# The Kantorovich Form of Ibragimov-Gadjiev Operators

#### Ali ARAL

### Kırıkkale University Department of Mathematics 71450 Yahşihan, Kırıkkale TURKEY

Abstract: - The paper is devoted to study on sequence of operators representing on integral form in Kantorovich sense of Ibragimov-Gadjiev Operators. Approximation properties of these operators are established for integrable functions.

Key-Words: - Positive linear operators, Kontorovich type operators,

#### **1** Introduction

In [7], Ibragimov-Gadjiev gave a general sequence of linear positive operators defined by

$$M_{n}(f;x) = \sum_{\nu=0}^{\infty} f\left(\frac{\nu}{\underline{n^{2}\psi_{n}(0)}}\right) m_{n,\nu}(x), \qquad (I)$$

where

$$m_{n,\nu}(x) = \frac{\partial^{\nu}}{\partial u^{\nu}} K_n(x,t,u) \Big|_{\substack{u=\alpha_n\psi_n(t) \ \underline{-\nu!}}} \left[ -\alpha_n\psi_n(0) \right]^{\nu}.$$

It is known that Ibragimov-Gadjiev operators include some well-known classical linear positive operators such as Bernstein, Bernstein-Chlodowsky, Szász-Mirakyan and V. A Baskakov operators.

1. Choosing 
$$K_n(x,t,u) = \left[1 - \frac{ux}{1+t}\right]^n, \alpha_n = n$$

and  $\psi_n(0) = \frac{1}{n}$ , we have Bernstein operators.

2. Choosing 
$$K_n(x,t,u) = \left[1 - \frac{ux}{1+t}\right]^n, \alpha_n = n$$
 and  
 $\psi_n(0) = \frac{1}{\underline{nb}_n} \left(\lim_{n \to \infty} b_n = \infty, \lim_{n \to \infty} \frac{b_n}{\underline{n}} = 0\right),$ 

we have Bernstein-Chlodowsky operators.

3. Choosing  $K_n(x,t,u) = e^{-n(t+ux)}, \alpha_n = n$  and  $\psi_n(0) = \frac{1}{n}$ , we have Szász-Mirakyan operators.

4. Choosing 
$$K_n(x,t,u) = K_n(t+ux), \alpha_n = n$$
 and  $\psi_n(0) = \frac{1}{\underline{n}}$ , we have Baskakov operators.

Some new properties of the operators (I) and some generalizations investigated in [3, 5, 10].

The aim of this paper is to give an integral generalization of  $M_n$  in Kantorovich sense. For a Bernstein type approximation process for integrable functions, as Kantorovich done, we show that the derivatives of the Ibragimov-Gadjiev operators converge to the derivative of the function. Then we define Kantorovich type generalization of  $M_n$  as taking instead of  $M_n$  of f derivative of

$$M_n$$
 of  $F(x) = \int_0^x f(t) dt$ . For details see [8].

For the sake of simplicity we are going to choose  $\alpha_n = n$  and  $\psi_n(0) = \frac{1}{n}$  in (I) and consider following conditions:

Assume that a family of functions of three variables  $K_n(x,t,u)$   $x,t \in I_n = [0,A]$  (for fixed A>0 or  $I_n = [0, \infty)$  (that is to say A= $\infty$ ),- $\infty < u < \infty$ ) satisfies the following conditions:

(a) 
$$K_n(x,0,1) = 1$$
 for  $x \in I_n$   
(b)  $(-1)^{\nu} \frac{\partial^{\nu}}{\partial u^{\nu}} K_n(x,t,u) \Big|_{\substack{u=1 \ t=0}} \ge 0 \quad \nu = 0,1,2,...$   
(c)  $\frac{\partial^{\nu}}{\partial u^{\nu}} K_n(x,t,u) \Big|_{\substack{u=1 \ t=0}} = -nx \frac{\partial^{\nu-1}}{\partial u^{\nu-1}} K_{n+m}(x,t,u) \Big|_{\substack{u=1 \ t=0}}$   
 $(x \in I_n, n \in N, \nu = 0,1,2) n + m \in N_0 = N \cup \{0\}.$ 

Supposed that the function  $K_n(x,t,u)$ , in addition to the condition a)-c), satisfies:

(d)  $K_n(x,t,u)$  is continuously differentiable with respect to x for any fixed u and t on the interval  $I_n$  and

$$\frac{\partial}{\partial x}K_n(x,0,1) = -nK_{n+m}(x,0,1).$$

(e)

 $\frac{1+\nu m}{1+mx}\frac{\partial^{\nu}}{\partial u^{\nu}}K_n(x,t,u)\Big|_{\substack{u=1\\t=0}}=n\frac{\partial^{\nu}}{\partial u^{\nu}}K_{n+m}(x,t,u)\Big|_{\substack{u=1\\t=0}}.$ 

Thus, we consider the operator

$$L_{n}(f;x) = \sum_{\nu=0}^{\infty} f\left(\frac{\nu}{n}\right) \frac{(-1)^{\nu}}{\nu!} \frac{\partial^{\nu}}{\partial u^{\nu}} K_{n}(x,t,u) \Big|_{\substack{u=1\\t=0}}$$
$$\coloneqq \sum_{\nu=0}^{\infty} f\left(\frac{\nu}{n}\right) A_{n}(\nu;x) \quad . \tag{1}$$

### 2. Auxilary Results

In this section we shall give some properties of operators which we shall apply the proofs of the main theorems.

**Lemma 2.1** The condition (d) is equivalent to the following equality

$$\frac{d}{dx}\frac{\partial^{v}}{\partial u^{v}}K_{n}(x,t,u)\Big|_{\substack{u=1\\t=0}}=\frac{v}{x}\frac{\partial^{v}}{\partial u^{v}}K_{n}(x,t,u)\Big|_{\substack{u=1\\t=0}}$$
$$-n\frac{\partial^{v}}{\partial u^{v}}K_{n+m}(x,t,u)\Big|_{\substack{u=1\\t=0}}$$
(2)

*Proof.* By  $\nu$ -multiple application of condition (c), we obtain

$$\frac{\partial^{\nu}}{\partial u^{\nu}} K_n(x,t,u) \bigg|_{\substack{u=1\\t=0}} = (-1)^{\nu} n(n+m) \dots \left[ n + (\nu-1)m \right] \times x^{\nu} K_{n+\nu_m}(x,1,0)$$
(3)

Applying condition d) and (3) we get

$$(-1)^{\nu} \frac{d}{dx} \frac{\partial^{\nu}}{\partial u^{\nu}} K_{n}(x,0,1) = n(n+m)...[n+(\nu-1)m]$$
$$\times \{\nu x^{\nu-1} K_{n+\nu m}(x,0,1) + x^{\nu}(n+\nu m) K_{n+(\nu+1)m}(x,0,1)\}$$

Using again (3), we have desired result.

Lemma2.2 For the polynomial

$$T_{\tau,n}(x) = S_n((t - nx)^{\tau})(x), \qquad \tau = 0, 1, 2, \dots$$
(4)

where

$$S_{n}(x) = \sum_{\nu=0}^{\infty} \nu A_{n}(x,\nu)$$
(5)

and  $x \in I_n$ , we have

$$\left|T_{\tau,n}(x)\right| \leq C n^{\left\|\frac{\tau}{2}\right\|},$$

||\_|

where *C* is a positive constant, *n* is a natural number and  $\left\|\frac{\tau}{2}\right\|$  is greatest integer less than  $\frac{\tau}{2}$ . *Proof.* Setting

$$S_n(t(t-1)(t-2)...(t-(l-1))), l \ge 1 \text{ the}$$

following elementary identities hold true by (c) and (5).

$$S_{n}(t(t-1)(t-2)...(t-(l-1)))(x)$$

$$=\sum_{\nu=l}^{\infty}\nu(\nu-1)...(\nu-(l-1))A_{n}(x,\nu)$$

$$=\sum_{\nu=l}^{\infty}\frac{(-1)^{\nu-l}}{(\nu-l)!}n(n+m)...(n+(l-1)m)$$

$$\times x^{l}\frac{\partial^{\nu-l}}{\partial u^{\nu-l}}K_{n+lm}(x,t,u)\Big|_{\substack{u=1\\ t=0}}$$

$$= n(n+m)...(n+(l-1)m)x^{2}\sum_{\nu=l}^{\infty}A_{n+lm}(x,\nu-l).$$
  
Since  $\sum_{\nu=l}^{\infty}A_{n+lm}(x,\nu-l) = 1$  we have  
 $S_{n}(t(t-1)(t-2)...(t-(l-1))))$   
 $= n(n+m)...(n+(l-1)m)x^{l}$ 

It is easily seen that by this equality

$$S_{n}(1)(x) = 1$$
  

$$S_{n}(t)(x) = nx$$
  

$$S_{n}(t^{2})(x) = nx \{x(n+m)+1\}$$
  

$$S_{n}(t^{3})(x) = nx \{(n^{2}+m(3n+2m))x^{2}+3x(n+m)+1\}$$
  

$$S_{n}(t^{4}) = nx \{(n^{3}+6n^{2}m+11nm^{2}+6m^{3})x^{3} + 6(n^{2}+3nm+2m^{2})x^{2}+7(n+m)x+1\}.$$

$$T_{0,n}(x) = 1$$
  

$$T_{1,n}(x) = 0$$
  

$$T_{2,n}(x) = nx(1+mx)$$
  

$$T_{3,n}(x) = nx(mx(2mx+3)+1)$$
  

$$T_{4,n}(x) = n^{2}(11m^{2}x^{4}+6mx^{3}+3x^{2}-8m^{2}x^{2})$$
  

$$+n(6m^{3}x^{4}+12m^{2}x^{3}+7mx^{2}+x).$$

Note that by the equalities above, it can be said that  $T_{0,n}$  and  $T_{1,n}$  are polynomials in n of order ||0|| and  $\left\|\frac{1}{2}\right\|$ , respectively. Moreover,  $T_{2,n}$  and  $T_{3,n}$  are polynomials of degree ||1|| and  $\left\|\frac{3}{2}\right\|$ . Finally,  $T_{4,n}$  is polynomial of degree  $\left\|\frac{4}{2}\right\|$ . This completes the proof of lemma.

**Lemma2.3** For  $x \in I_n$ 

$$\sum_{\left\{\nu:\left|\frac{\nu}{n}-x\right|\geq n^{\frac{1}{8}}\right\}}^{\infty} A_n(x,\nu) \leq C \frac{1}{n\sqrt{n}}$$

where  $A_n(x,\nu)$  defined as in (1) and *C* is a positive constant independent of n.

*Proof:* Since  $\left(\frac{v}{n} - x\right)^4 n^{-\frac{1}{2}} \ge 1$  we have from

Lemma 2.2

$$\sum_{\left\{\nu \mid \frac{\nu}{n} - x\right] \ge n^{\frac{1}{8}}}^{\infty} A_n(x,\nu) = \sum_{\nu=0}^{\infty} \left(\frac{\nu}{n} - x\right)^4 n^{-\frac{1}{2}} A_n(x,\nu)$$
$$= \frac{\sqrt{n}}{n^4} T_{4,n} \le \frac{C}{n\sqrt{n}}.$$



$$\lim_{x \to A} x^{\nu} K_{n+m+1}(x,0,1) = 0$$
  
 $(\nu = 0,1,2... and n+m \in N)$   
then  

$$\int_{0}^{A} x^{\nu} K_{n+(\nu+1)m+1}(x,0,1) dx = \frac{\nu!}{(n+1)(n+m+1)...(n+\nu m+1)}.$$
  
Proof: By  $(\nu+1)$ -multiple application of  
condition (d), we obtain  

$$K_{n+(\nu+1)m+1}(x,0,1) = -\frac{1}{(n+\nu m+1)} \frac{\partial}{\partial x} K_{n+\nu m+1}(x,0,1)$$
  

$$= \frac{1}{(n+(\nu-1)m+1)(n+\nu m+1)} \frac{\partial^{2}}{\partial x^{2}} K_{n+(\nu-1)m+1}(x,0,1)$$
  
=:  

$$= \frac{(-1)^{\nu+1}}{(n+1)(n+m+1)\cdots(n+\nu m+1)} \frac{\partial^{\nu+1}}{\partial x^{\nu+1}} K_{n+1}(x,0,1)$$

# 3. The convergence results

Now we introduce the convergence issues of the derivative of  $L_n(f)$ .

**Theorem 3.1.** Let f is bounded function on  $I_n$ . If f has finite derivative f'(x) at the point  $x \in I_n$ , then

$$\lim_{n\to\infty} (L_n f)'(x) = f'(x).$$

*Proof: Let*  $x \neq 0$ . Using (2) we get

$$(L_n f)'(x) = \sum_{\nu=0}^{\infty} f\left(\frac{\nu}{n}\right) \frac{(-1)^{\nu}}{\nu!} \frac{\partial}{\partial x} \frac{\partial^{\nu}}{\partial u^{\nu}} K_n(x,t,u) \Big|_{\substack{u=1\\t=0}}$$
$$= \sum_{\nu=0}^{\infty} f\left(\frac{\nu}{n}\right)$$
$$\times \left\{ \frac{\nu}{x} \frac{\partial^{\nu}}{\partial u^{\nu}} K_n(x,t,u) \Big|_{\substack{u=1\\t=0}} - n \frac{\partial^{\nu}}{\partial u^{\nu}} K_{n+m}(x,t,u) \Big|_{\substack{u=1\\t=0}} \right\}$$

By condition (e)

$$(L_n f)'(x) = \sum_{\nu=0}^{\infty} f\left(\frac{\nu}{n}\right) \frac{(-1)^{\nu}}{\nu!} \frac{(\nu - nx)}{x(1 + mx)} \frac{\partial^{\nu}}{\partial u^{\nu}} K_n(x, 0, 1)$$
$$= \frac{1}{x(1 + mx)} \sum_{\nu=0}^{\infty} f\left(\frac{\nu}{n}\right) (\nu - nx) A_n(x, \nu).$$

(

Since f' exists then by Lagrange's theorem we can

write 
$$f\left(\frac{\nu}{n}\right) = f(x) + \left(f'(x) + \alpha\left(\frac{\nu}{n}\right)\right)\left(\frac{\nu}{n} - x\right),$$

where  $\alpha(t) \rightarrow 0$  as  $t \rightarrow x$ .

Evidently we have

$$(L_n f)'(x) = \frac{1}{x(1+mx)} f(x) T_{1,n}(x) + \frac{1}{nx(1+mx)} f'(x) T_{2,n}(x) + \tau_n$$

where

$$\tau_n = \frac{1}{nx(1+mx)} \sum_{\nu=0}^{\infty} \alpha \left(\frac{\nu}{n}\right) (\nu - nx)^2 A_n(\nu, x).$$
  
By Lemma2.2,  $T_1(x) = 0$  and  $T_2(x) = nx(1+mx)$  we get

$$(L_n f)'(x) = f'(x) + \tau_n.$$
(6)

Now we find upper bound of  $\tau_n$  for a large *n*. Since  $\alpha(t) \to 0$  as  $t \to x$ , for  $\varepsilon > 0$  there exists a number *n* such that for  $|t - x| \le n^{-\frac{1}{8}}$ , thus, we have

$$\left|\alpha_n(t)\right| < \frac{\varepsilon}{8}$$

From above observation we can write

$$\left| \frac{1}{x(1+mx)} \sum_{\left\{ \nu, \left| \frac{\nu}{n-x} \right| < n^{-\frac{1}{8}} \right\}}^{\infty} \alpha\left(\frac{\nu}{n}\right) (\nu - nx)^2 A_n(x,\nu) \right|$$
$$\leq \frac{\varepsilon}{2} \frac{1}{nx(1+mx)} T_2(x) = \frac{\varepsilon}{2}. \quad (7)$$

Since the function  $\alpha \left(\frac{\nu}{n}\right) (\nu - nx)^2$  is bounded there exists an upper bound *M* such that by Lemma 2.3

$$\left|\frac{1}{x(1+mx)}\sum_{\left\{\nu:\left|\frac{\nu}{n}-x\right|\geq n^{-\frac{1}{8}}\right\}}^{\infty}\alpha\left(\frac{\nu}{n}\right)(\nu-nx)^{2}A_{n}(x,\nu)\right|$$
$$\leq nM\sum_{\left\{\nu:\left|\frac{\nu}{n}-x\right|\geq n^{-\frac{1}{8}}\right\}}^{\infty}A_{n}(x,\nu)\leq \frac{MC}{\sqrt{n}}.$$

Thus sufficiently large *n* one has  $\frac{MC}{\sqrt{n}} < \frac{\varepsilon}{2}$ . From this inequality and (7) the inequality  $|\tau_n| < \varepsilon$  holds. In result, (6) implies

$$\lim_{n\to\infty} (L_n f)'(x) = f'(x).$$

For x=0 we consider the equality

$$L_{n}f)'(x) = \frac{1}{x(1+mx)} \sum_{\nu=0}^{\infty} f\left(\frac{\nu}{n}\right)(\nu - nx)$$

$$\times \frac{(-1)^{\nu}}{\nu!} \frac{\partial^{\nu}}{\partial u^{\nu}} K_{n}(x,t,u) \Big|_{\substack{u=1\\t=0}}^{u=1}$$

$$= \frac{1}{x(1+mx)} \left\{-f(0)nxK_{n}(x,0,1) - f\left(\frac{1}{n}\right)(1-nx)\frac{\partial}{\partial u}K_{n}(x,t,u) \Big|_{\substack{u=1\\t=0}}^{u=1}$$

$$+ \sum_{\nu=2}^{\infty} f\left(\frac{\nu}{n}\right)(\nu - nx)\frac{(-1)^{\nu}}{\nu!}\frac{\partial^{\nu}}{\partial u^{\nu}}K_{n}(x,t,u) \Big|_{\substack{u=1\\t=0}}^{u=1}$$

Using (3) and condition (c) the above equality can be re-written in the form

$$(L_n f)'(x) = \frac{1}{x(1+mx)} \{-f(0)nxK_n(x,0,1) \\ -nf\left(\frac{1}{n}\right)(1-nx)\frac{\partial}{\partial u}K_{n+m}(x,t,u)\Big|_{\substack{u=1\\t=0}} \\ +\sum_{\nu=2}^{\infty} f\left(\frac{\nu}{n}\right)n(n+m)\cdots\frac{x^{\nu-1}}{\nu!}K_{n+\nu m}(x,t,u)\Big|_{\substack{u=1\\t=0}} \}$$

By taking x=0 we get

$$(L_n f)'(0) = n\left(f\left(\frac{1}{n}\right) - f(0)\right)$$

and

$$\lim_{n\to\infty} (L_n f)'(0) = f(0).$$

This completes the proof of Theorem 3.1. For the function

$$F(x) = \int_{0}^{x} f(t) dt$$

we can write

$$L_n(F)(x) = \sum_{\nu=0}^{\infty} \left\{ \int_{0}^{\frac{\nu}{n}} f(t) dt \right\} \frac{(-1)^{\nu}}{\nu!} \frac{\partial^{\nu}}{\partial u^{\nu}} K_n(x,t,u) \bigg|_{\substack{u=1\\t=0}}$$

 $\nu$  -multiple usage of condition (c) yields

$$L_{n}(F)(x) = \sum_{\nu=0}^{\infty} \left\{ \int_{0}^{\frac{\nu}{n}} f(t) dt \right\}$$
$$\times \frac{x^{\nu} n \cdots \left(n + (\nu - 1)m\right)}{\nu!} K_{n+\nu m}(x, 0, 1)$$

and writing n+1 instead of n we get

$$L_{n+1}(F)(x) = \sum_{\nu=0}^{\infty} \left\{ \int_{0}^{\frac{\nu}{n+1}} f(t) dt \right\}$$
  
 
$$\times \frac{x^{\nu}(n+1)\cdots(n+(\nu-1)m+1)}{\nu!} K_{n+\nu m+1}(x,0,1)$$

By condition (d)

$$\frac{d}{dx}L_{n+1}(F)(x) = \sum_{\nu=0}^{\infty} \left\{ \int_{0}^{\frac{\nu+1}{n+1}} f(t) dt \right\} K_{n+(\nu+1)m+1}(x,0,1)$$

$$\times \frac{x^{\nu}(n+1)\cdots(n+\nu m+1)}{\nu!}$$
$$-\sum_{\nu=0}^{\infty} \left\{ \int_{0}^{\frac{\nu}{n+1}} f(t) dt \right\} x^{\nu} \frac{\partial}{\partial x} K_{n+\nu m+1}(x,0,1)$$
$$\times \frac{(n+1)\cdots(n+(\nu-1)m+1)}{\nu!}$$

holds.

Representing  $\frac{\partial}{\partial x} L_{n+1}(F)(x)$  with  $A_n(f)(x)$ 

which is a linear positive operator such that it is a Ibragimov-Gadjiev operator in Kantorovich form.

$$A_{n}(f)(x) = \sum_{\nu=0}^{\infty} \left\{ \int_{\frac{\nu}{n+1}}^{\frac{\nu+1}{n+1}} f(t) dt \right\} x^{\nu} \frac{\partial}{\partial x} K_{n+(\nu+1)m+1}(x,0,1)$$
$$\times \frac{(n+1)\cdots(n+(\nu-1)m+1)}{\nu!}$$

$$A_{n}(f)(x) = (n+1)\sum_{\nu=0}^{\infty} \left\{ \int_{\frac{\nu}{n+1}}^{\frac{\nu+1}{n+1}} f(t) dt \right\} \frac{(-1)^{\nu}}{\nu!} \frac{\partial^{\nu}}{\partial x^{\nu}} K_{n+m+1}(x,0,1)$$
(8)

We note that in [1, 2, 4, 9] similar generalizations were developed for different operators.

Let us denote by  $L[I_n]$ , the class of integrable function in  $I_n$ . The norm on  $I_n$  is defined by

$$\left\|f\right\|_{L} = \int_{0}^{A} \left|f\left(x\right)\right| dx.$$

As a consequence of Theorem 3.1, we give the following theorem.

**Theorem 3.2** At any point  $x \in I_n$ 

$$\lim_{n\to\infty}A_n(f)(x)=f(x),$$

where f(x) is the derivative of its indefinite integral.

**Theorem 3.3** If for each v = 0, 1, 2, ... with  $n + m \in N$ 

$$\lim_{x \to A} x^{\nu} K_{n+m+1}(x,0,1) = 0$$
  
$$f \in L[I_n] \text{ then}$$

and

 $\int_{}^{A}$ 

 $\lim_{n\to\infty} \left\| A_n(f) - f \right\|_L = 0.$ 

*Proof*: Firstly, we show that  $A_n, n \in N$ , is a operator from  $L[I_n]$  to itself. By applying condition (c)  $\nu$ -times we obtain from Lemma 2.4

$$A_{n}(f)(x)dx$$

$$=\sum_{\nu=0}^{\infty} \left\{ \int_{\frac{\nu}{n+1}}^{\frac{\nu+1}{n+1}} f(t)dt \right\} \int_{0}^{A} \frac{(-1)^{\nu}}{\nu!} \frac{\partial^{\nu}}{\partial x^{\nu}} K_{n+m+1}(x,0,1)dx$$

$$=\sum_{\nu=0}^{\infty} \left\{ \int_{\frac{\nu}{n+1}}^{\frac{\nu+1}{n+1}} f(t)dt \right\} = \|f\|_{L}.$$

We choose  $f_{v,n}(x) = [u_n]^{-1} \chi_u(x)$ , where  $u_n = \frac{r}{n+1}$  and  $\chi_u$  is the characteristic function of the interval  $[0, u_n]$ .

or

Since the set of all step functions is dense in the space  $L[0,\infty)$  to prove the theorem it is sufficient to prove only for the characteristic function  $\chi_u$ . It is obvious that

$$\int_{0}^{R} A_{n}(\chi_{u_{n}}; x) dx = \sum_{\nu=0}^{r-1} \int_{\frac{\nu}{n+1}}^{\frac{\nu+1}{n+1}} dx = \frac{r}{n+1} \quad . \tag{9}$$

For a large n, we can write

$$\begin{aligned} \left\| \chi_{u_{n}} - A_{n} \left( \chi_{u_{n}} \right) \right\|_{L} &= \int_{0} \left[ \chi_{u_{n}} \left( x \right) - A_{n} \left( \chi_{u_{n}}; x \right) \right] dx \\ &= \int_{0}^{u_{n}} \left[ 1 - A_{n} \left( \chi_{u_{n}}; x \right) \right] dx + \int_{u_{n}}^{R} A_{n} \left( \chi_{u_{n}}; x \right) dx \\ &= \int_{0}^{u_{n}} \left[ A_{n} \left( 1; x \right) - A_{n} \left( \chi_{u_{n}}; x \right) \right] dx + \int_{0}^{R} A_{n} \left( \chi_{u_{n}}; x \right) dx \\ &- \int_{0}^{u_{n}} A_{n} \left( \chi_{u_{n}}; x \right) dx \\ &= \int_{0}^{u_{n}} \left[ 2A_{n} \left( \chi_{u_{n}}; x \right) - A_{n} \left( 1; x \right) \right] dx + \int_{0}^{R} A_{n} \left( \chi_{u_{n}}; x \right) dx \end{aligned}$$

where  $\overline{\chi_{u_n}} = 1 - \chi_{u_n}(x)$ . Also,

$$A_{n}\left(\overline{\chi_{u_{n}}};x\right) = \frac{d}{dx}\left(L_{n+1}\left(\int_{0}^{x}\overline{\chi_{u_{n}}}(t)dt\right);x\right)$$
$$= \frac{d}{dx}\left(\sum_{\nu=0}^{\infty}\left\{\int_{0}^{\frac{\nu}{n+1}}\overline{\chi_{u_{n}}}dt\right\}\frac{\partial^{\nu}}{\partial u^{\nu}}K_{n}\left(x,t,u\right)\Big|_{u=1\atop t=0}^{u=1}\right)$$
$$= \frac{d}{dx}\left(\sum_{\nu=0}^{\infty}\left(\frac{\nu}{n+1} - \frac{r}{n+1}\right)\frac{\partial^{\nu}}{\partial u^{\nu}}K_{n}\left(x,t,u\right)\Big|_{u=1\atop t=0}^{u=1}\right)$$

Thus

$$\int_{0}^{u_{n}} A_{n}\left(\overline{\chi_{u_{n}}};x\right) dx = \sum_{\nu=0}^{\infty} \left(\frac{\nu}{n+1} - \frac{r}{n+1}\right) \frac{\partial^{\nu}}{\partial u^{\nu}} K_{n}\left(x,t,u\right) \bigg|_{\substack{u=1\\ t=0}}$$
$$= L_{n}\left(\varphi, u_{n}\right),$$

where

$$\varphi(x) = \begin{cases} 0, x \le u_n \\ x - u_n, x > u_n \end{cases}.$$
  
Since  $L_n(\varphi, u_n) - \varphi(x) \to 0 (n \to \infty)$  then

 $\lim_{n\to\infty}\int_{0}^{u_{n}}A_{n}\left(\overline{\chi_{u_{n}}};x\right)dx=0.$ 

From (9), (10) and (11), the proof is completed.

References:

- [1] Agratini, O. An approximation process of Kantorovich type, Mathematical Notes (Miskolc), Vol 2, No:1, (2001),pp: 3-10.
- [2] Aral, A. and Doğru, O. Direct estimates and  $L_p$  approximation properties for generalized Meyer-König and Zeller operators and their integral form, Int. Jour. of Compt. Num Anal and Appl. Vol 5, No:2, (2004), 173-187..
- [3] Aral, A. Approximation by Ibragimov-Gadjiev operators in polynomial weighted space, Proc. of IMM of NAS of Azerbaijan, (2003) XIX, 35-44.
- [4] Campiti, M. and Metafune, M. L<sub>p</sub> } convergence of Bernstein-Kantorovich type operators, Anal. Polon. Math.,LXIII, 3, (1996), 273-280.
- [5] Doğru, O. On a certain family linear positive operators, Tr. J. of Math., V.21, (1997),pp. 337-389.
- [6] Herman, T. On Baskakov type operators, Acta Math. Acad. Sci., 31 (3-4) 307.
- [7] Ibragimov, I.I. and Gadziev, A.D. On a sequence of linear positive operators, Soviet Math. Dokl., Vol:11, (1970),No:4, pp. 1092-1095.
- [8] Lorentz, G. G. Bernstein Polynomials, Univ. of Toronto Press, Toronto, 1953.
- [9] Powierska, M., On smoothness and approximation properties of Kantorovich type operators, Domenstratio Math., Vol: XXXV, No:4, (2002).
- [10] Radatz D. and Wood B. Approximation derivatives of unbounded functions on positive axis with linear operators, Rev. Roun. Math. Pures et Appl., Vol: XXIII, No:5 (1978),pp. 771-781.